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7. Строит9ль, 2021 7о8 



«�Nд6ет длO 7D46д4=» — Qто упDоIе==4O 6еDE8O 5Nд6ет4, 

о5ле7G4NI4O 7D46д4=4< е7о по=8<4=8е, о5JOE=ONI4O пл4=K 8 

де9Eт68O 4д<8=8EтD4F88 6о 6Dе<O 5Nд6ет=о7о 7од4. 

ЧB> B0:>5 «�R465B 4;S 3@0640=»? 

�Nд6ет длO 7D46д4= D47D454тK64етEO длO о7=4ко<ле=8O 7D46д4= E 

74д4G4<8 8 пD8оD8тет=K<8 =4пD46ле=8O<8 5Nд6ет=о9 пол8т8к8, 
оE=о6=K<8 уEло68O<8 DоD<8Dо64=8O 8 8Eпол=е=8O 5Nд6ето6, 
8EтоG=8к4<8 доEодо6 5Nд6ето6, о5оE=о64=8O<8 5Nд6ет=KE D4EEодо6, 
пл4=8Dуе<K<8 8 доEт87=утK<8 Dе7улLт4т4<8 8EполL7о64=8O 5Nд6ет=KE 

4EE87=о64=89, 4 т4к6е 6о6леGе=8O 7D46д4= 6 о5Eу6де=8е 5Nд6ет=KE 

DеHе=89. 



• Mто пл4= доEодо6 8 D4EEодо6 =4 опDеделе==K9 
пеD8од 

�Nд6ет 

• де=е6=Kе EDедEт64 поEтуп4NI8е 6 5Nд6ет �оEодK 5Nд6ет4 

• 6Kпл4G864е<Kе 87 5Nд6ет4 де=е6=Kе EDедEт64  4EEодK 5Nд6ет4 

• пDе6KHе=8е D4EEодо6 5Nд6ет4 =4д е7о доEод4<8 �еD8F8т 5Nд6ет4 

• пDе6KHе=8е доEодо6 5Nд6ет4 =4д е7о D4EEод4<8 �DоD8F8т 5Nд6ет4 

�A=>2=O5 ?>=SB8S, 8A?>;P7C5<O5 2 1R465B=>< ?@>F5AA5 



• е6е7од=ое DоD<8Dо64=8е пDоекто6 5Nд6ето6, 
ут6еD6де=8е 8 8Eпол=е=8е 5Nд6ето6, ко=тDолL 74 8E 

8Eпол=е=8е< 
�Nд6ет=K9 пDоFеEE 

• EDедEт64, пDедоEт46лOе<Kе од=8< 5Nд6ето< 5Nд6ет=о9 

E8Eте<K дDу7о<у 5Nд6ету 5Nд6ет=о9 E8Eте<K 

�е65Nд6ет=Kе 
тD4=EDеDтK 

• дот4F88 - EDедEт64 пDедоEт46лOе<Kе 5е7 опDеделе=8O 

ко=кDет=о9 Fел8 8E 8EполL7о64=8O; 

• Eу56е=F88 – EDедEт64 пDедоEт46лOе<Kе =4 

D8=4=E8Dо64=8е «пеDед4==KE» дDу78< уDо6=е< 6л4Eт8 

5Nд6ет=KE пол=о<оG89; 

• - Eу5E8д88 – EDедEт64 пDедоEт46лOе<Kе =4 уEло68OE 

доле6о7о EоD8=4=E8Dо64=8O D4EEодо6 дDу78E 5Nд6ето6 

�8дK 
<е65Nд6ет=KE 
тD4=EDеDто6: 

• Eо6окуп=оEтL DедеD4лL=о7о 5Nд6ет4, 5Nд6ето6 Eу5Jекто6 

 оEE89Eко9 ФедеD4F88, <еEт=KE 5Nд6ето6 8 5Nд6ето6 

7оEуд4DEт6е==KE 6=е5Nд6ет=KE Dо=до6 
�Nд6ет=4O E8Eте<4 

�A=>2=O5 ?>=SB8S, 8A?>;P7C5<O5 2 1R465B=>< ?@>F5AA5 



�4<8=8AB@0B82=> - B5@@8B>@80;P=>5 45;5=85 3>@>4A:>3> >:@C30 

16 упD46ле=89 теDD8тоD89 

'пD46ле=8е �лекEее6Eко9 теDD8тоD88 

'пD46ле=8е �уто6Eко9  теDD8тоD88 

'пD46ле=8е �Kко6Eко9  теDD8тоD88 

'пD46ле=8е �оEт8Iе6Eко9 теDD8тоD88 

'пD46ле=8е �<8тD8е6Eко9 теDD8тоD88 

'пD46ле=8е �468до6Eко9 теDD8тоD88 

'пD46ле=8е К474Fко9 теDD8тоD88 

'пD46ле=8е КD86Fо6Eко9 теDD8тоD88 

'пD46ле=8е КуEто6Eко9 теDD8тоD88 

'пD46ле=8е �оIе=Eко9 теDD8тоD88 

'пD46ле=8е !46е=Eко9 теDD8тоD88 

'пD46ле=8е !<оDод8=Eко9 теDD8тоD88 

'пD46ле=8е !тDелеFко9 теDD8тоD88 

'пD46ле=8е &еD=о6Eко9 теDD8тоD88 

'пD46ле=8е &о<4Dо6Eко9 теDD8тоD88 

'пD46ле=8е Яко6ле6Eко9 теDD8тоD88 



�A=>2=O5 ?>:070B5;8 A>F80;P=>-Q:>=><8G5A:>3> @0728B8S 

3>@>4A:>3> >:@C30 

�ок474тел8 
�д8=8F4 
87<еDе=8O 

2018 7од 

отчет 
2019 7од 

отчет 
2020 7од 

отчет 
2021 7од 

оFе=к4 

2022 7од 

пDо7=о7 
!Dед=е7одо64O G8Eле==оEтL =4Eеле=8O D49о=4 тKE. Gело6ек 56,4 56,1 55,8 55,7 55,6 

О5оDот оD74=874F89 по 6Eе< 68д4< 

Mко=о<8GеEко9 деOтелL=оEт8 
<л=. Dу5. 72 300 75 000 112 300 153 100 158 000 

�=декE пDо<KHле==о7о пDо876одEт64 (6 % к 

пDедKдуIе<у 7оду 6 EопоEт468<KE Fе=4E) 
% 106,2 106,0 109,6 123,8 101,2 

�=декE потDе58телLEк8E Fе= % 102,9 104,5 103,4 106,0 104,3 

!Dед=еEп8EоG=4O G8Eле==оEтL D45от=8ко6 

оD74=874F89 D49о=4 
Gело6ек 15 600 15 766 15 237 15 085 15 085 

Фо=д  =4G8Eле==о9 74D45от=о9 пл4тK D45от=8ко6 

оD74=874F89 D49о=4 
<л=. Dу5. 5 402,2 6 585,3 6 992,2 7 411,8 7 997,3 

!Dед=е<еEOG=4O =о<8=4лL=4O =4G8Eле==4O 

74D45от=4O пл4т4 D45от=8ко6 оD74=874F89 

D49о=4 

Dу5ле9 28 858 34 807 38 241 40 944 44 179 

Ч8Eле==оEтL 5е7D45от=KE, 74Dе78EтD8Dо64==KE 6 

Eлу65е 74=OтоEт8 
тKE. Gело6ек 0,242 0,189 0,404 0,165 0,200 

�6од 6 MкEплу4т4F8N 74 EGет 6EеE 8EтоG=8ко6 

D8=4=E8Dо64=8O 68лKE до<о6 
тKE.к6.<. 45,1 49,2 54,6 57,6 56,9 



�A=>2=O5 7040G8 1R465B=>9 ?>;8B8:8 3>@>4A:>3> >:@C30 

О5еEпеGе=8е 
E54л4=E8Dо64=

=оEт8 8 
уEто9G86оEт8 
5Nд6ет=о9 
E8Eте<K 

7оDодEко7о 
окDу74 

�е7уEло6=ое 
8Eпол=е=8е 
Fеле9 8 74д4G 
=4F8о=4лL=KE 

пDоекто6 

О5еEпеGе=8е 
пD8=OтKE 

EоF84лL=KE 
о5O74телLEт6 

 е4л874F8O 
<еE4=87<4 
поддеD6к8 
<еEт=KE 
8=8F84т86 

 е4л874F8O 
<49Eк8E ук47о6 
�Dе78де=т4 
 оEE89Eко9 
ФедеD4F88  

�4D4I864=8е 
=4ло7о6о7о 
поте=F84л4 8 

Eт8<ул8Dо64=8е 
8=6еEт8F8о==о9 

4кт86=оEт8  

О5еEпеGе=8е 
пол=отK 
упл4тK 

=4ло7о6 8 
пDеEеGе=8е 

EEе< 
=е74ко==о9 
<8=8<874F88 
=4ло7о6KE 

о5O74телLEт6 



�A=>2=O5 E0@0:B5@8AB8:8 1R465B0 3>@>4A:>3> >:@C30 70 2021 3>4 

�оEодK 

3 045 919 

 тKE. Dу5. 

 4EEодK  
3 054 991 

 тKE. Dу5. 

�еD8F8т 
5Nд6ет4 

9 072 тKE. Dу5. 



�>E>4O 1R465B0 3>@>4A:>3> >:@C30 

�4ло7о6Kе 

 доEодK –  
 

поEтупле=8O  от 
упл4тK =4ло7о6 6 
Eоот6етEт688 E   

74ко=од4телLEт6о< 
 оEE89Eко9 
ФедеD4F88 о 

=4ло74E 8 E5оD4E 

�е76о7<е7д=Kе поEтупле=8O –  
 

дот4F88, Eу5E8д88, Eу56е=F88 8 
8=Kе <е65Nд6ет=Kе 

тD4=EDеDтK 87 дDу78E 5Nд6ето6 
5Nд6ет=о9 E8Eте<K  оEE89Eко9 

ФедеD4F88,  
5е76о7<е7д=Kе поEтупле=8O от 
D878GеEк8E 8 ND8д8GеEк8E л8F 

�е=4ло7о6Kе доEодK –  
 

поEтупле=8O от 8EполL7о64=8O 
8<уIеEт64, доEодK от пDод468 
8<уIеEт64, доEодK от пл4т=KE 

уEлу7, HтD4DK, E4=кF88, 
6о7<еIе=8е уIеD54, пDоG8е 

=е=4ло7о6Kе доEодK 



�>@<0B82O 70G8A;5=8S >A=>2=OE =0;>3>2OE 4>E>4>2 

2 1R465B 3>@>4A:>3> >:@C30 

��ФЛ - 57,4% 
�е<елL=K9 
=4ло7 – 100% 

�4ло7 =4 
8<уIеEт6о 

D878GеEк8E л8F 
– 100% 

�д8=K9 =4ло7 =4 
6<е=U==K9 
доEод – 100% 

�д8=K9 EелLEко-

Eо7O9Eт6е==K9 

=4ло7 – 100% 

�4ло7, 
678<4е<K9 6 

E6O78 E 
пD8<е=е=8е< 
п4те=т=о9 
E8Eте<K 

=4ло7оо5ло6е-

=8O – 100% 



�54>8<:0 2 1R465B 3>@>4A:>3> >:@C30 2 2021 3>4C 

�4 01 O=64DO 
2021 7од4 

23 512  

тKE. Dу5ле9 

�7<е=е=8е 74 
2021 7од 

- 4 133  

тKE. Dу5ле9 

�4 01 O=64DO 
2022 7од4 

19 379  

тKE. Dу5ле9   



%B@C:BC@0 =0;>3>2OE 8 =5=0;>3>2OE 4>E>4>2 1R465B0 
3>@>4A:>3> >:@C30 70 2021 3>4 
�4ло7 =4 доEодK D878GеEк8E 

л8F; 66,9% 

�кF87K =4 =еDтепDодуктK; 
2,9% 

�4ло78 =4 Eо6окуп=K9 доEод; 
2,2% 

�4ло7 =4 8<уIеEт6о 
D878GеEк8E л8F; 4,7% 

�е<елL=K9 =4ло7; 12,7% 

�оEуд4DEт6е==4O поHл8=4; 
0,8% 

�Dе=д4 7е<л8; 3,5% 
�Dе=д4 8<уIеEт64; 0,4% �оEодK от пDод468 7е<л8 8 

8<уIеEт64; 2,7% 

�л4те68 пD8 полL7о64=88 
пD8Dод=K<8 DеEуDE4<8; 2,7% 

�DоG8е доEодK; 0,4% 



ИA?>;=5=85 4>E>4>2 1R465B0 3>@>4A:>3> >:@C30 

70 2018-2022 3>4O 

�ок474тел8 
$4кт 2018 

 7од 

$4кт 2019 

7од 

$4кт 2020 

7од 

$4кт 2021 
7од 

�Dо7=о7 =4 
2022 7од 

�оEодO 5Nд6ет4 - 6Eе7о 1 831 349,1 2 140 178,4 2 567 592,8 3 045 919,0 3 156 892,4 

87 =8E:     

1. !о5Eт6е==Kе =4ло7о6Kе 8 =е=4ло7о6Kе 

доEодK 
708 126,9 760 096,7 867 439,8 960 639,3 975 321,0 

2. �е76о7<е7д=Kе поEтупле=8O 1 123 222,2 1 380 081,7 1 700 153,0 2 085 279,7 2 181 571,4 

87 =8E:     

�от4F88 140 454,0 220 942,7 224 756,9 238 068,6 250 541,0 

тKE.Dу5. 
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70 2018-2022 3>4O 

�ок474тел8 
$4кт 2018 

 7од 

$4кт 2019 

7од 

$4кт 2020 

7од 

$4кт 2021 
7од 

�Dо7=о7 =4 
2022 7од 

 4EEодO 5Nд6ет4 - 6Eе7о 1 779 639,7 2 131 707,3 2 556 310,7 3 054 991,0 3 208 392,4 

87 =8E: 

1. �4 EGет Eо5Eт6е==KE доEод=KE 

8EтоG=8ко6 E уGето< дот4F89 87 

Dе78о=4лL=о7о 5Nд6ет4 

860 734,8 943 972,9 1 081 043,8 1 207 743,4 1 277 362,0 

2. �4 EGет <е65Nд6ет=KE тD4=EDеDто6 87 

Dе78о=4лL=о7о 5Nд6ет4 
918 904,9 1 187 734,4 1 475 266,9 1 847 247,6 1 931 030,4 

тKE.Dу5. 



%B@C:BC@0 @0AE>4>2 1R465B0 3>@>4A:>3> >:@C30 70 2021 3>4 

О5Iе7оEуд4DEт6е==Kе 
6опDоEK; 4,2% �4F8о=4лL=4O 5е7оп4E=оEтL 8 

пD46ооED4=8телL=4O 
деOтелL=оEтL; 0,3% 

�4F8о=4лL=4O Mко=о<8к4; 
14,7% 

�8л8I=о-ко<<у=4лL=ое 
Eо7O9Eт6о; 7,8% 

ОED4=4 окDу64NIе9 

 EDедK; 0,03% 

О5D47о64=8е; 41,2% КулLтуD4, к8=е<4то7D4D8O; 
8,8% 

�дD46ооED4=е=8е; 1,4% 

!оF84лL=4O пол8т8к4; 19,4% 

Ф878GеEк4O кулLтуD4 8 EпоDт; 
2,1% 

!DедEт64 <4EEо6о9 
8=DоD<4F88; 0,1% 



ИA?>;=5=85 @0AE>4>2 1R465B0 3>@>4A:>3> >:@C30 

?> @0745;0< 1R465B=>9 :;0AA8D8:0F88 70 2021 3>4 

№ 
п.п. 

Н48<е=о64=8е отD4Eл8 
�л4= =4 

 2021 7од 

$4кт 
74 2021 7од 

�DоFе=т 
8Eпол=е=8O 

Откло=е=8е 

1. О5Iе7оEуд4DEт6е==Kе 6опDоEK 130 371,3  127 778,7  98,0% -2 592,6  

2. 
�4F8о=4лL=4O 5е7оп4E=оEтL 8 

пD46ооED4=8телL=4O деOтелL=оEтL 
8 519,9  8 415,8  98,8% -104,1  

3. �4F8о=4лL=4O Mко=о<8к4 458 639,7  449 272,9  98,0% -9 366,8  

4. �8л8I=о-ко<<у=4лL=ое Eо7O9Eт6о 246 564,6  239 446,9  97,1% -7 117,7  

5. ОED4=4 окDу64NIе9 EDедK 627,9  627,9  100,0% 0,0  

6. О5D47о64=8е 1 267 989,2  1 258 182,1  99,2% -9 807,1  

7. КулLтуD4, к8=е<4то7D4D8O 273 278,5  268 321,3  98,2% -4 957,2  

8. �дD46ооED4=е=8е 44 100,0  44 100,0  100,0% 0,0  

9. !оF84лL=4O пол8т8к4 616 126,4  593 745,1  96,4% -22 381,3  

10. Ф878GеEк4O кулLтуD4 8 EпоDт 63 546,0  63 500,3  99,9% -45,7  

11. !DедEт64 <4EEо6о9 8=DоD<4F88 1 600,7  1 600,0  100,0% -0,7  

�!��О  �!%О�О�: 3 111 364,2  3 054 991,0  98,2% -56 373,2  

тKE.Dу5. 



%B@C:BC@0 @0AE>4>2 1R465B0 3>@>4A:>3> >:@C30 70 2021 3>4  
2 @07@575 <C=8F8?0;P=OE ?@>3@0<< 

О5еEпеGе=8е 

 5е7оп4E=оEт8 

 687=едеOтелL=оEт8 

 =4Eеле=8O 

 Яко6ле6Eко7о  
7оDодEко7о 

 окDу74; 0,3% 

 4768т8е о5D47о64=8O 6 Яко6ле6Eко< 
7оDодEко< окDу7е; 41,3% 

!оF84лL=4O поддеD6к4 7D46д4= 6 
Яко6ле6Eко< 7оDодEко< окDу7е; 17,1% 

 4768т8е 

 кулLтуDK  
8 8EкуEEт64 6 

 Яко6ле6Eко< 

 7оDодEко< 

 окDу7е; 10,1% 

 4768т8е <олоде6=о9 пол8т8к8, 
D878GеEко9 кулLтуDK 8 EпоDт4 6 

Яко6ле6Eко< 7оDодEко< окDу7е; 2,2% 

 4768т8е Mко=о<8GеEко7о поте=F84л4 8 
DоD<8Dо64=8е 5л47опD8Oт=о7о 

пDедпD8=8<4телLEко7о кл8<4т4 6 
Яко6ле6Eко< 7оDодEко< окDу7е; 0,6% 

О5еEпеGе=8е доEтуп=K< 8 ко<DоDт=K< 
68лLе< 8 ко<<у=4лL=K<8 уEлу74<8 

68теле9 Яко6ле6Eко7о 7оDодEко7о окDу74; 
8,4% 

&D4=EпоDт=4O EетL 

 8 доDо6=4O 8=DD4EтDуктуD4 
Яко6ле6Eко7о 7оDодEко7о 

 окDу74; 10,8% 

О5еEпеGе=8е =4Eеле=8O  
Яко6ле6Eко7о 7оDодEко7о окDу74 

8=DоD<4F8е9 8 D4768т8е 
8=DоD<4F8о==о7о о5IеEт64; 0,7% 

ФоD<8Dо64=8е Eо6Dе<е==о9  
7оDодEко9 EDедK =4 теDD8тоD88 

Яко6ле6Eко7о 7оDодEко7о окDу74; 2,1% 

 4768т8е о5IеEт6е==о7о 

 E4<оупD46ле=8O =4 теDD8тоD88 
Яко6ле6Eко7о 7оDодEко7о окDу74; 0,1% 

�епDо7D4<<=4O G4EтL 5Nд6ет4 
7оDодEко7о окDу74; 8,2% 



�A=>2=O5 1R465B=O5 >1S70B5;PAB20 3>@>4A:>3> >:@C30 

1 
• Dе4л874F8O <49Eк8E 'к47о6 �Dе78де=т4  оEE89Eко9 ФедеD4F88 

2 
• о5еEпеGе=8е D4EEодо6 по опл4те тDуд4 D45от=8ко6 5Nд6ет=о9 EDеDK окDу74 

3 
• 5е7уEло6=ое 8Eпол=е=8е EоF84лL=KE о5O74телLEт6 

4 

• оEуIеEт6ле=8е к4п8т4лL=KE 6ло6е=89 6 о5JектK <у=8F8п4лL=о9 

Eо5Eт6е==оEт8 

5 
• 6Kпол=е=8е =4F8о=4лL=KE пDоекто6 8 пDо7D4<< 

6 
• D4EH8Dе=8е пD8<е=е=8O пD8=F8по6 8=8F84т86=о7о 5Nд6ет8Dо64=8O 



$0AE>4O 1R465B0 3>@>4A:>3> >:@C30 =0 @50;870F8R 
=0F8>=0;P=OE ?@>5:B>2 70 2021-2024 33. 

Н48<е=о64=8е 
$4кт 74 
2021 7од 

�л4= =4 
2022 7од 

�л4= =4 
2023 7од 

�л4= =4 
2024 7од 

Н4F8о=4лP=O9 пDоект «КулPтуD4», 6 то< ч8Eле: 18 971,1 35 361,0 32 658,6 

ФедеD4лL=K9 пDоект «КулLтуD=4O EDед4» 18 903,8 35 151,0 32 658,6 

ФедеD4лL=K9 пDоект «&6оDGеEк8е лNд8» 67,3 210,0 

Н4F8о=4лP=O9 пDоект «О5D47о64=8е», 6 то< ч8Eле: 14 342,0 

ФедеD4лL=K9 пDоект «!о6Dе<е==4O Hкол4» 14 342,0 

Н4F8о=4лP=O9 пDоект «Ж8лPе 8 7оDодEк4O EDед4», 6 то< ч8Eле: 67 775,2 39 944,4 

ФедеD4лL=K9 пDоект «ФоD<8Dо64=8е ко<DоDт=о9 7оDодEко9 EDедK» 47 533,3 39 944,4 

Фед-K9 пDоект «О5еEпеG-е уEто9G86о7о EокD4I-O =епD87од=о7о длO пDо68-O 68л-7о Dо=д4» 20 241,9 

Н4F8о=4лP=O9 пDоект «Эколо78O», 6 то< ч8Eле: 137,5 

ФедеD4лL=K9 пDоект «Ко<плекE=4O E8Eте<4 о5D4Iе=8O E т6еDдK<8 ко<<-<8 отEод4<8» 137,5 

Н4F8о=4лP=O9 пDоект «�е<о7D4D8O», 6 то< ч8Eле: 41 057,2 479,0 

ФедеD4лL=K9 пDоект «Ф8=4=Eо64O поддеD6к4 Eе<е9 пD8 Dо6де=88 дете9» 40 440,3 

ФедеD4лL=K9 пDоект «!оде9Eт68е 74=OтоEт8» 616,9 

ФедеD4лL=K9 пDоект «!поDт - =оD<4 687=8» 479,0 

Н4F8о=4лP=O9 пDоект «�е7оп4E=Oе к4чеEт6е==Oе доDо78», 6 то< ч8Eле: 70 683,0 100 010,9 82 342,0 84 465,0 

ФедеD4лL=K9 пDоект « е78о=4лL=4O 8 <еEт=4O доDо6=4O EетL» 70 683,0 100 010,9 82 342,0 84 465,0 

Ито7о 198 486,5 150 330,4 122 286,4 117 123,6 

тKE.Dу5. 



УG0AB85 3>@>4A:>3> >:@C30 2 @50;870F88 3>AC40@AB25==OE 
?@>3@0<< 2 2021 3>4C 

Н48<е=о64=8е <еDопD8Oт8O 
ОE6ое=о 

6 2021 7оду 
К4п8т4лL=K9 Dе<о=т ���О' «�етEк89 E4д «!к47к4» E. �лекEее6к4 Яко6ле6Eко7о 7оDодEко7о окDу74 39,3 

К4п8т4лL=K9 Dе<о=т ���О' «Ц   – д/E «�олото9 клNG8к», 7. !тDо8телL Яко6ле6Eко7о 7оDодEко7о 

окDу74 
30,7 

К4п8т4лL=K9 Dе<о=т �К'К «&о<4Dо6Eк89 <оделL=K9 �о< кулLтуDK», п. &о<4Dо6к4 Яко6ле6Eко7о 

7оDодEко7о окDу74 
37,1 

К4п8т4лL=K9 Dе<о=т 7д4=8O ��!'!О!!�� «Яко6ле6Eк89 до<-8=теD=4т длO пDеEт4DелKE 8 

8=64л8до6» (кDо6лO, D4E4д «доEтуп=4O EDед4») E.�оEт8Iе6о Яко6ле6Eко7о 7оDодEко7о окDу74 
6,4 

О5еEпеGе=8е 68лLе< <ед8F8=Eк8E D45от=8ко6 42,7 

К4п8т4лL=K9 Dе<о=т 5D4тEко9 <о78лK, E. �еDE=89 ОлLH4=еF Яко6ле6Eко7о 7оDодEко7о окDу74 0,6 

!тDо8телLEт6о (пD8о5Dете=8е) 68лLO длO дете9-E8Dот, дете9, оEт46H8EEO 5е7 попеGе=8O 

Dод8теле9, 8 л8F 87 8E G8Eл4 
30,3 

О5еEпеGе=8е 68лLе< <олодKE Eе<е9 5,3 

ИB>3> 192,4 

<л=. Dу5. 



�A=>2=O5 ?0@0<5B@O 1R465B0 /�� 70 2020-2022 3>4O 
тKE. Dу5. 

№ 
п/п 

Н48<е=о64=8е пок474теле9 
$4кт 

 74 2020 7од 

$4кт 
 74 2021 7од 

�Dо7=о7  
=4 2022 7од  

1. ��Х��Ы, 2A53> 2 567 592,8 3 045 919,0 3 156 892,4 

 <; A<I: 

1.1. EB5EF69AAO9 A4?B7B6O9 < A9A4?B7B6O9 867 439,8 960 639,3 975 321,0 

1.2. 59;6B;@9;8AO9 CBEFGC?9A<O 1 700 153,0 2 085 279,7 2 181 571,4 

в Fо@ чиE?е: 

8BF4J<<  224 756,9 238 068,6 250 541,0 

EG5E<8<<, EG569AJ<<, <AO9 

@9:5N8:9FAO9 FD4AEH9DFO, 6B;6D4FO 
1 475 396,1 1 847 211,1 1 931 030,4 

2. $�%Х��Ы, 2A53> 2 556 310,7 3 054 991,0 3 208 392,4 

 <; A<I: 

2.1. ;4 EK9F EB5EF69AAOI ED98EF6 1 081 043,8 1 207 743,4 1 277 362,0 

2.2. ;4 EK9F H989D4?PAOI < B5?4EFAOI ED98EF6 1 475 266,9 1 847 247,6 1 931 030,4 

3. �5D8F8B(-), ?@>D8F8B (+) + 11 282,1 - 9 072,0 - 51 500,0 

4. % 45D8F8B0 - 1,7 9,56 



ПB87BFB6?9AB  
GCD06?9A<9@ 
H<A0AEB6 < 
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CB?<F<>< 

08@<A<EFD0ц<< 
/>B6?96E>B7B 

7BDB8E>B7B B>DG70 


